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Solution for exercise 5.1.2 in Pitman 1

Question a) Let Xi denote the random value of the result of the i’th measurement
(i = 1, 2). The density of Xi is given by
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We find directly or using
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Question b) This is example 3 page 343 with different parameters?
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= 1− 0.9025 = 0.0975

X and Y are fractions of the interval[
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]
. Thus we are looking for

P (|X − Y | ≤ (1/100)/(2/10) = 1/20)

Now consider page 343. The non-
shaded area is

2×
(

1

2
× 19

20
× 19

20

)
=

(
19

20

)2

The shaded area, corresponding to the
probability we are looking for, is thus
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